
7FAW05

Folienabrollwagen mit Abschneidefunktion

Nr.: Beschreibung: Anzahl:
1 Radachse 1
2 Standfuß 1
3 Vordere Strebe 1
4 Hintere Strebe 1
5 Achse für Folienrolle 1
6 Achse für Folienrolle mit 

Handgriff
1

7 Untere Querstrebe 1
8 Messerleiste 1
9 Vierkantleiste 1
10 Folienschneidfläche 1
11 Schraube M8x40 2
12 Schraube M8x45 4
13 Schraube M8x20 8
14 Unterlegscheibe 15 2
15 Mutter M8 4
16 Sicherungssplint 2
17 Rad 2



7FAW05

Folienabrollwagen mit Abschneidefunktion

1

3

5

2

4

6

7 8

Aufbauanleitung


